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5. BEKGGEISHE
1) Bs : AREAFEEHERENPRERSZ.
2 ) EIRLRIETA s

I
S = —
4

d2 (mm2)

3) BRI L

L = nd

(mm)
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W = — d2 p= Sp (kg/km)

4
XA : p—HEBE (g/cm3)
5) FHESREES
Bif A | HHEE (gfon®
wmEWmaE p
1l 8. 89
(8 7.8

6 ) W% : RERTREERIERS | ZSHIREIEES.

S = ab — [4r? —mr?]
= ab — 0.858 r? (mm?)
A : a—EE (mm) ;
b—%E (mm) ;
r—EREE (mm) ,
7) REREIK L
L=2(a + b)— (8r — 2nr)
8 ) RERJTIRE
fFERRST a(an)
a=3.15

3.15< a=£6. 30
6.30< a=7.10

HEER ST b(am)
b=3.15

3.15¢ font="" style="margin: Opx:

padding: Opx:">
6. 30¢ b=12.50
12.50< b=16. 00

BE (kg/kn)
2.1214d°
6.928 d°
6.126 d°

82 (an)
+0.03
*0.05
+0. 07

CERONY

*0.03
*0.05
0. 07
*0.09
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S5 R a(an) _ BEfA¥1E r(an)
= ¥ HE (%)
a<1. 00
1. 00< font="" style="margin: Opx: a2
padding: Opx;”> 0.5
1. 60< font="" style="margin: Opx: 0. 65 + o5
padding: Opx:"> 0. 80
2.44< a=3.55 1. 00
3.55< a=6. 00 1. 20

6.00< a==7.10

9) 1~5 R P AL ADGESME Do
HAERE 7o 4% Do (mm) L Mo (Do /d)



